NO.1 25m%0—JL

[1#H] (F2#x) (&%) [H#)
1
2
3 FiEt BF TR 46.00
4
5
6

[24H] [F28%]) [#&5E] [HE%]
1
2 BEKE TF 4% 31.00
3 EHEF TF 4%k 31.00
4 EEHAIT ZF 4R 27.00
5 ZFEXE TF 5%k 31.00
6

[3#8] [Fofx] (#&7E] [H#]
1
2 FRiEE—ER BF 4%k 27.00
3 [LFEEE BF 4R 31.00
4 ¥ EEE BF 7% 45.00
5
6

[4#H] (o8] (&%) [H#)
1
2 I|BEH B5F 5#% 31.00
3 BAREEN BF 4% 27.00
4 FikiGaE BF LR 27.00
5 hfRIF— BF 4R 24.00
6

NO.2 25m/\3254

[14H] [F28x] [#&=7E] [HE%]
1
2
3 fiEth BF 7Rk 51.00
4
5

6




NO.3 100m{EAARL —

[1#H] (F2#x) (&%) [E#)
1 EARER BF 2%k 2:16.00
2 BXREF B5F 2% 2:16.00
3 &Mz BF 2%k 2:16.00
4 BiRE BF 2%k 2:16.00
5 EHFES BF 2% 2:03.00
6 BRAIKYE B5F 2%k 1:48.00

[24H] [FoEx] [#&5E] [HE%]
1
2 mAERE TF 2% 2:00.00
3 AARH=E TF 28k 2:20.00
4
5
6

[148]) (Fo#x] (#&7E] [E#)
1
2
3 AAXHEK TF 5#% 37.00
4
5
6

[2#H] (5o #x) (&%) [E#)
1 FRZEE—HD BF 4R 31.00
2 HREE B5F T4k 50.00
3 ILEEE BF 4%k 35.00
4 ¥ EEE B5F 74k 50.00
5 {RikiaE BF 4k 31.00
6

[3#H] [FoEx] [#&=7E] [HE%]
1
2 BEKE TF 48R 35.00
3 EHEF TF 4% 35.00
A EBEHAIT ZF 4R 31.00
5
6




